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CHAPTER- 1. Knowing Our Numbers
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Write the numeral for each of the following numbers :
a) Twelve crore twelve lakh twelve thousand Twelve
b) Fifty two million two hundred five thousand six

How many thousands make crore ?

Arrange the following numbers in ascending and descending order
199988, 1704382 , 200175, 1702497 , 201200 , 1712040

Write the number name of each in the Indian & International system of humeration:
a) 90703006 b) 37502093

By how much is 13246510 larger than 4658642 ?
Estimate the sum to the nearest hundred : 3280 + 4395
Estimate the difference to the nearest thousand : 35863 - 27677

Express each of the following numbers as a Roman numeral :
a)49 b) 63 c) 99 d) 137 e)389 f)625

Express each of the following numbers as Hindu-Arabic numeral :
a)LXXXVI b)) XCIX c¢) CDXLVI d)XLIV

Show that each of the following is meaningless. Give reason in each case.
a) XXXX b)VX ¢)IC d)XVV

The distance between two towns is 36 km 500 m . A bus takes 8 rounds between the two rounds in
a day . How much distance will it cover in a week ?

Find the difference between the largest & the smallest four digit numbers formed by the digits 0, 2,
5&7.

Find the difference between the place values of two 7s in 78,65,49,756 .

A box contains 4 strips of antibiotics capsules. Each strip has 9 capsules and each capsule contains
250 mg of medicine . What will be the total weight of medicine in grams in 50 such boxes ?

The number of sheets of paper available for making notebooks is 75000 . Each sheet makes 8
pages of a notebook . Each notebook contains 200 pages. How many notebooks can be made
from the paper available?

Ravish has Rs 78,592 with him . He placed an order for purchasing 39 radio sets at Rs 1234 each .
How much money will remain with him after the purchase ?

A steel wire of 100 m is divided into 8 equal pieces . What is the length of each piece ?

A tank holds 1000 | of water. If the capacity of a bucket is 12 | 600 ml, find the maximum number of
buckets that can be filled by the water tank.

To stich a trouser , 1 m 30 cm cloth is needed . Out of 15 m cloth , how many trousers can be
stitched and how much cloth will remain ?

There was a stock of 2,75,67,890 sacks of wheat in a godown of Food Corporation of India (FCI).
During drought & flood situation in Orissa & Assam respectively FCI sent 87,89 045 & 96,73,500
sacks of wheat to these states . What is the remaining stock with FCI ?
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